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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o= AHAHS Dt 18,968,277 10,186,094 8,782,183
= 1,843,289
Xl 10,694,000
< 6,430,988
oMY B Y 18,929,787 10,176,662 8,753,125
= 1,843,289
X 10,694,000
< 6,392,498
M2 FSIHE IS 15,229,736 6,856,262 8,373,474
= 736,489
Xl 9,464,000
= 5,029,247
TUERSANEAE 1,316,000 3,407,500 22,091,500
Xl 1,013,000
= 303,000
403 A X EHHS =0l A 1,316,000 3,407,500 22,091,500
Xl 1,013,000
< 303,000
01 X EHH A= LE XL 1,316,000 3,407,500 A 2,091,500
O=8tAIE AIEHE XI& 1,316,000
Xl 1,013,000
< 303,000
F=NMSIESFRSANENH 365,000 227,500 137,500
403 UHXSHHSA=0l& 365,000 227,500 137,500
01 XM A= XL 365,000 227,500 137,500
OO0 dsd&E AL 50,000
OtEd IHEZ3F Aolxs el XN 105,000
OZEH L Al X & 30,000
OxttE RESieE N&E 60,000
OOtEZ N3 UsAIE & 120,000
o2 AHIEA X 90,000 40,000 50,000
308 XX EHH SOl 90,000 40,000 50,000
01 HIXNHHNBHNEES 40,000 40,000 0
Ox=4&2 AHISE ALY 40,000
10 S 2 SOCHetE & X 2 E A I 50,000 0 50,000
OAHIX HAeh 43 XA 50,000
HLEZITHAA 22,265 23,811 A 1,546
= 17,127
< 5,138
308 XX EHH SOl A 22,265 23,811 A 1,546
= 17,127
< 5,138
01 HXNHMBHELS 22,265 23,811 A 1,546




S R aig=a B
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Sl AMB RSB JIYRE (S &2)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
Odgdg ZTHM XA 22,265
= 17,127
< 5,138
M2 HAAE HE X 1,190,000 230,000 960,000
= 700,000
= 490,000
308 XXM SOIA 280,000 230,000 50,000
01 IXNHHBANEES 70,000 70,000 0
O==¢tAals ZTHM XI& 70,000
1037/ 2S0HUHeBHEAEALS I 210,000 160,000 50,000
OxdAS HAAIE HE 130,000
O#MAE 22 AE3 60,000
O=U =&AZ B2HAE I 20,000
403 XM SA=0l& 910,000 0 910,000
= 700,000
= 210,000
01 XM A=2EE 910,000 0 910,000
OLIEZ JtEE8+ H=AE 910,000
= 700,000
< 210,000
SEHE O A 25,171 25,171 0
= 19,362
< 5,809
308 XtXIEHH SOl A 25,171 25,171 0
= 19,362
< 5,809
01 X HHILEES 25,171 25,171 0
OSHEETH KA 25,171
= 19,362
< 5,809
A= 180,000 10,000 170,000
207 A& | 180,000 0 180,000
01 2284 180,000 0 180,000
Ocfadty =28 SHAHZHE JI2HE ¢+
2o 180,000
=g A& 92 35 X2 1,055,000 60,000 995,000
308 XtXIEHH SOl A 60,000 0 60,000
01 HXNHHBHEELS 60,000 0 60,000
SO XNAsd A2us IA(ALE 60,000
403 MtXSHHS A= 0l& 995,000 60,000 935,000
01 HXSHMA2E X 995,000 60,000 935,000
O=g2 XNdsdl AzAs N (DLAHSH
SHAIANY) 995,000




S R aig=a B
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=ML IISAIEAHE 2,691,000 2,227,000 464,000
X 2,070,000
< 621,000
403 UHXISHHSA=0l& 2,691,000 2,227,000 464,000
X 2,070,000
< 621,000
01 HXESHMA=LE L 2,691,000 2,227,000 464,000
=02 MXINBAE TR 2,691,000
Xl 2,070,000
< 621,000
SMASMALHEHIZS 8,295,300 0 8,295,300
Xl 6,381,000
< 1,914,300
403 MtXISHH S0l & 8,295,300 0 8,295,300
Xl 6,381,000
< 1,914,300
01 AXSHMA=2E X 8,295,300 0 8,295,300
SAMASMANEHI Y 8,295,300
Xl 6,381,000
< 1,914,300
SoHME A Y OOiE 419,008 230,000 189,008
= 200,000
< 219,008
SN HESXXH AE 260,000 230,000 30,000
= 200,000
= 60,000
308 XX EHHSOIA 260,000 230,000 30,000
= 200,000
< 60,000
01 AXHHILEES 260,000 230,000 30,000
OZANE HESRX XA 260,000
= 200,000
< 60,000
OEAZ LTS 25t 150,000 0 150,000
403 MHXSHHSA=0l& 150,000 0 150,000
01 X ESHMA=2E L 150,000 0 150,000
ONEATLHEH23 2=0EH X& 150,000
AR FEOHE 2 54 9,008 0 9,008
201 24l 3,600 0 3,600
01 At 22l 3,600 0 3,600
ONEH &Y 2AstAY It & 22 (0
AE2Z 10% 3,600
202 O4dl 2,700 0 2,700
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01 2LHHI 2,700 0 2,700
Ofptptdgrza o L AAMEAH SR (0 AHE 2
10%) 2,700
203 &R =&H| 2,708 0 2,708
03 A =X R =XH| 2,708 0 2,708
Oatated 2 FX(0l 2,708
HEY ¥ =4 3,281,043 3,090,400 190,643
= 906,800
Xl ,230,000
& , 144,243
=01 J|Etx M 493,000 280,000 213,000
308 AXISHAMSOIA 228,000 200,000 28,000
01 AIXHMBAEEXZ 228,000 200,000 28,000
OLHz=H MEHH wet 142,000
OUWs+H 2FXHES 26,000
S SEIAY 30,000
OUW+H Rl 20X 30,000
403 XX S S K201 A 265,000 80,000 185,000
01 HXHNMAHEE = 265,000 80,000 185,000
OW==HAEANHE D]t 30,000
O™ AR 40,000
OU=H ENMNS M 140,000
OWU=H™ SEtFEOfH 25,000
Odtns W9 oY 30,000
+AIEl BHEOfE AL 147,000 147,000 0
= 147,000
403 XXM S K201 A 147,000 147,000 0
= 147,000
01 XHNMAHEBE = 147,000 147,000 0
OYAIH BZA ALY 147,000
= 147,000
SANEHHEO OHNMAEAH T4 195,000 0 195,000
= 150,000
& 45,000
403 ItXISH NS K201 195,000 0 195,000
= 150,000
& 45,000
01 AIXISHMA2E X 195,000 0 195,000
oYX gel otMallH =4 195,000
= 150,000
< 45,000
20& 0lsA & 44X 15,000 0 15,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 15,000 0 15,000
01 RXISHAE 2 X 15,000 0 15,000
OIS0 ZE 0lsA ot&Ea &X 15,000
g0 XA 53,100 0 53,100
= 45,000
< 8,100
308 XXM SOIA 53,100 0 53,100
= 45,000
< 8,100
01 AXHHBISEES 53,100 0 53,100
OoogE=<0a XN& 53,100
= 45,000
< 8,100
HESSXFHME X2 500,000 0 500,000
= 250,000
= 250,000
308 XtXIEHHSOIA 500,000 0 500,000
= 250,000
= 250,000
10 3J/2S0HUHSBSHAE ALS I 500,000 0 500,000
ONHEESXNJALEHIA 500,000
= 250,000
< 250,000
HENEOS MREHEXNE ALY 64,800 50,400 14,400
= 64,800
308 X EH SOl A 64,800 50,400 14,400
= 64,800
01 HXNHHNBNEES 64,800 50,400 14,400
OHENEOISAREHEXNA 64,800
= 64,800
HACHE O 564,286 0 564,286
Xl 500,000
< 64,286
403 MtXISHHE X201 E 564,286 0 564,286
N 500,000
< 64,286
01 XM A=2EER 564,286 0 564,286
OdACte HEIRYE 564,286
X 500,000
< 64,286
DSHel Satneg 507,857 0 507,857
Xl 450,000
< 57,857
403 A X EHH S =0l A 507,857 0 507,857
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SA - BB B () - MM - BES Ol &t o San HmEET
Al 450,000
< 57,857
01 HIXSHMA2E X 507,857 0 507,857
otrsdel S3tHg 507,857
Xl 450,000
< 57,857
M| BHE Y| 79,000 0 79,000
Xl 70,000
< 9,000
403 XIS E X201 & 79,000 0 79,000
Xl 70,000
< 9,000
01 AXSHHMA2E = 79,000 0 79,000
Oz 79,000
Xl 70,000
= 9,000
NS A2 st 237,000 0 237,000
X 210,000
< 27,000
308 AHAIEHHSOIA 237,000 0 237,000
Xl 210,000
< 27,000
01 HIXNHHNBHNEELES 237,000 0 237,000
OXS A2t 237,000
Xl 210,000
< 27,000
HEOXHAH S AE ALY 325,000 325,000 0
= 250,000
< 75,000
403 MHXISHHE X201 H 325,000 325,000 0
= 250,000
< 75,000
01 XS M A=2EE 325,000 325,000 0
O E6xt A3t Al AL 325,000
= 250,000
< 75,000
HEAs2 A8 XN 100,000 0 100,000
403 A X EHHS =0l A 100,000 0 100,000
01 XXM 22 = 100,000 0 100,000
OUEN3 2 100,000
AL (LA D) 38,490 9,432 29,058
Jl2ddl(=4atahdmt) 38,490 9,432 29,058
Jl2ZHl (=4t 38,490 9,432 29,058
201 Let24d] 17,820 4,486 13,334
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